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  QUESTION 241Which two server models support single-wire management for Cisco UCS C-Series integration with Cisco UCS

Manager? (Choose two.) A.    Cisco UCS C200 M2 serverB.    Cisco UCS C250 M2 serverC.    Cisco UCS C260 M2 serverD.   

Cisco UCS C240 M3 serverE.    Cisco UCS C240 M2 server Answer: CD QUESTION 242Refer to the exhibit. Assume that the

Cisco UCS 6200 Series Fabric Interconnects are equipped with 16 port expansion modules. What is the impact of the last command

in the exhibit?  

 A.    Fabric interconnect B will reboot.B.    The expansion module on fabric interconnect B will reload.C.    The command will

generate an error.D.    Both fabric A and B expansion modules will reload.E.    The expansion module on fabric interconnect B will

reload according to the maintenance policy that is set by Cisco UCS Manager.  Answer: C QUESTION 243You have configured a

Cisco UCS C460 M2 Rack-Mount Server with two VIC 1225 adapters for single-wire management with Cisco UCS Manager.

Which statement correctly describes the operation of these adapters? A.    One VIC is designated to carry management, and the other

VIC is designated to carry data traffic.B.    Both VICs will be used for management and data traffic.C.    One VIC will carry

management, and both VICs will carry data traffic.D.    The Cisco UCS C460 M2 does not support two VIC 1225 adapters

simultaneously. Answer: C QUESTION 244Refer to the exhibit. Which option describes the output that is shown in bold in the

exhibit?  

 A.    This output represents a standby VIF.B.    This output indicates that fabric failover has been enabled on vNIC 3.C.    This

output represents a reserved system VIF.D.    This output represents an unpinned interface. Answer: A QUESTION 245Which two

FEX connection modes are correct? (Choose two.) A.    hard-pinning modeB.    soft-pinning modeC.    port channel modeD.   

physical-pinning modeE.    vlan pinning mode Answer: AC QUESTION 246Which four port types are included in the VLAN port

count? (Choose four.) A.    border uplink Ethernet portsB.    border uplink EtherChannel member portsC.    FCoE ports in a SAN

cloudD.    static and dynamic vNICs created through service profilesE.    VLANsF.    VSANsG.    Private VSANsH.    Private
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VLANs Answer: ABCD QUESTION 247What is the default MTU for Fibre Channel on Cisco UCS Manager? A.    2112B.    2240

C.    2000D.    9216 Answer: B QUESTION 248Refer to the ex hibit. How many additional chassis equipped with Cisco UCS

2204XP I/O Modules could be connected at maximum bandwidth without exceeding the existing port licenses?  

 A.    1B.    2C.    3D.    4E.    5 Answer: B QUESTION 249Which two items have an impact on the maximum number of virtual

interfaces that can be created on a virtual interface card? (Choose two.) A.    number of blades in the chassisB.    number of

acknowledged links between the Fabric Interconnect and the I/O moduleC.    number of connected uplinksD.    number of Fabric

Interconnect port ASICs used by uplinksE.    number of Fabric InterconnectsF.    number of VIC Answer: BD QUESTION 250

Which feature must be enabled on the upstream Fibre Channel switch if the fabric interconnect is configured in end-host mode? A.   

NPVB.    NPIVC.    ZoningD.    Smart Zoning Answer: B  Braindump2go New Released 350-080 Dumps PDF are Now For Free
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